SUMPOEBIEIANINTOYS A

SEUME;)D SuMPO EPD AR AY AT IR
=F LD 4T NEBESE (EPD FRABT AERAHE1-14-8
. RIRE 5
VERIFIED KANDA SQUARE GATE
%‘ﬁ%% ¢ JR-AI-26073E https://ecoleaf-label.jp
o ABRFIAS FRFrF—
A3 Document Scanner
DS-71000WN

BEH
SHm1BadrY

BEX R
WSS

[RA R RE, A EERRPE. FTEERPE. (£
FA-HERFE R RS, BEEE - UYL ERBE

LSS

HmOEN, TR
A%, : DS-71000WN

FELHF

m I35y My RESTE T [E R Ee HERD (ADF{TE)

mtE>x A

B X3V RE (A4%E) FE704%2/5> @m140m/5
mEXFREEYA(X : 297.1%3,556mm

SR RE | S ARRMRE 600x600dpi

mX+v> AR ¢ CIS

EI!EI
dl

KA mITICKLERITY,
KABRIL, EPDICEDZ ERIFERELHLHY
B E OB A (C[EWeb Y MMaLEREFRLTIEEN,

RLWahtEF
11-I SV %AEH
REBERFHAM=T B3ESS

(for North America)

EHRES JR-AI-26073E
EFPCRES  PA-590000-Al-08
PCR% ERA H 12
NG| 202656 H4H
RILEIEHE 2026858268
REEAH YATLIREEA R
RAES EIR-26-002
REEE#NEAR 2031458258

PCRLE1-DEE
SREHE 2023#F 98 1H

ZER Mg S
—MRAEEIEAY AT T IR B HEERAE
B=EHRAE
HNEPIRIEE  —MRUMEEABRRBERIEE 2R 5

ISO14025(CHE T A E B RUT -5 DAL LIARFE

OAEs WA
*YAT LRI E R FERNORIDBE L, VAT LRI TLBEEOD
HRIETH,

https://www.epson.jp/contact/
BiEES 0266-52-3131

Z5H&ES ¢ JR-AlI-26073E



SuMPO EPD SUMPORIESANINTOII A

SuMPO
E” PD = — R EEAY AT IR
. .0 S14TNBEETE (EPD) ERET A EXAHE1-14-8
. VERIFIED KANDA SQUARE GATE
EFES - JR-AI-26073E https://ecoleaf-label jp

S1791 VIV EFHEER

RS | wasE | hask 1@g§ﬁ e
SUREE - AF kg-CO2eq 1.07E+02 1.48E+01 1.01E+01 2.70E+00 1.54E+01
SIEZTE - L EHEN kg-COzeq 1.07E+02 1.48E+01 9.85E+00 2.69E+00 1.28E+01
SELH - 2 kg-COzeq 1.63E-01 1.22E-02 1.15E-03 1.16E-03 2.65E+00
SIREE - HABERTHRES kg-CO-eq 8.55E-02 3.65E-03 2.06E-01 1.01E-02 6.03E-03
AV BREIE kg-CFC-11eq 7.53E-06 2.41E-08 1.31E-07 3.73E-09 9.16E-08
EXRENL kg-PO4*-eq 4.48E-03 8.42E-07 2.99E-07 2.73E-07 1.10E-05
fxdild kg-SOzeq 1.09E-01 1.24E-01 1.51E-02 1.63E-02 2.24E-02
KAZAFIIV kg-CzHaeq 2.10E-03 5.29E-06 4.24E-04 1.63E-06 7.09E-05

EMATYIVDIM TV INFEIEE

IELEYAIFES - 319 | kg-Sbeq | 7.77E-02 | 1.15E-06 | 1.14E-05 2.26E-05 6.65E-06
X1 RIEBICFIS021930:201 7 TRESNB[S1THA VA YRY MU D BEER-FEEVMER-LRHREL AKOEE R, CO20HHEELUBRER O EE TR TERASNZBLAREIRFSENSD
FEEYOWABEICLZHEHE (Emissions from combustion of waste from renewable source used in producuion processes) |, RU 4 & T2 CfEAIN 3 H A RN Al B HHGFN OB EY DRABEIC L 3 5E

i (Emissions from combustion of waste from non-renewable sources used in production processes) |D#EREEHET

2 1 RIEEIZ31S021930:2017 TRESN B[ 1 THA TIAYRY ISR BEER-IE D ER-C BN HOKOEBE, CO20HFHBSLURER IO \MAR-ZRROEMRFRFEHRICEIET S

BrESLUHEE (Removals and rmissions associated with biogenic carbon content of the biobased product) |, RUTNAAR-ZyT-IVIDEYRBRZEH BICEETIHRESLUHEH
(Removals and emissions associated with biogenic carbon content of the biobased packaging) |D#ERE&EHET

3 1 ARIEBIZ31S021930:2017 TRESN B[ 1 THA VA YNV M BIEER-IEE D BER-L BN HOKOEBE, CO20HFHBEBLUMRER IO LA BZENSOBEH (Emissions from land

use change) |DFEREEHET

S1IY1IWA IRV IS IREEER

—REROFERICEETZIEIZE
<= . s FA - #E#
FREEER | NERE | RS 1§$§ﬁ BEBERRE
BEAHE—RER - Ix¥- (RPRp) MJ 2.52E+02 5.53E+01 2.18E+01 3.68E+01 1.21E+01
BEATE—RER - IRE-2BHE (RPRy) MJ 6.23E+00 1.89E-03 4.57E-04 3.97E-04 2.94E-03
IEB/ERBEE—RER - IRILF- (NRPR) MJ 1.61E+03 1.61E+02 1.52E+02 1.97E+02 6.47E+01
FBEAE—RER - TRVF-EBME (NRPRy) MJ 3.11E+02 1.58E-01 2.69E-02 3.02E-02 7.51E-02
ZREROERICEET 3I51E
RECE , oy ﬁﬁﬁ': ﬁ
FREERE | WESE | Ak Eg e
"X
ZRR mJ 4.02E+00 6.04E-03 2.85E-03 5.08E-03 1.98E-03
BB RIAK mJ 1.08E+00 1.21E-02 2.87E-04 4.41E-03 1.28E-02
FEFERTRE T RIARL mJ 1.28E+00 0.00E+00 7.24E-04 0.00E+00 1.08E-01
KKDEE mJ 9.44E-01 2.06E-09 1.14E-01 4.73E-10 6.32E-02
EEMER-LBBEL RKDEBE. CO20FHERLUBREE
<= . - R - #5
FREERE | WERE | ek ﬁg B
23
WZEIE B
EEYE R B-LERE M) 1.79E+03 1.76E+02 1.36E+02 3.86E+01 5.08E+01
KKDBEEE m? 1.05E+00 7.78E-03 1.12E-03 1.09E-03 2.82E-03
FEEYIREER
<= . - R - #5
FREEER | WERE | ek ﬁg B
"X
mEREZY) kg 3.98E+00 5.47E-02 1.31E-02 7.89E-03 1.12E+01
SNV EREEY m 1.44E-09 2.63E-12 1.34E-10 5.33E-10 7.42E-11

FREBIMELNI RS FEEY m 6.00E-07 1.10E-09 5.59E-08 2.23E-07 3.10E-08




BERRICET2BMIER

-BQOMEmEIE - dek
ERBRBOETESE (YFUA) X
- 1B SRR © 641/8 (8AFv/H)
- 1B OBREIA%K : 208/A
- 1EEORREIHE : 2408
- FEEFAERR : 55
- FRSCEUVREK © 76,8004 (9,600AFvY) /55
HEABRBOBRERIOOVWTUL, I-Y-0RERRGCAENEE LRORGTYTUARRELE, EH - HHEERETHELLZRAEE. &
FEF LORRICEEDHEL,

ZDOIRIEREF R

OEBRIRIF-A5-T0J5 LVer3 2018 EHRELTNET,
@R ROHSIE S [CEELTVNET,

Hd E(CEd 51 ERALEZRT-9DEXA
HE-E (EEEY) By IDEA v3.4.1 BEUSUMPOBREININ SOV S LB SR Efiv1 16&EALTVET,

LB 7.493 kg
Sus (A7VLA) 0.225 kg
FIVIZUL 0.002 kg
Zofb&E 1.690 kg
T5AFvY 7.667 kg
dn 0.052 kg
A5 1.436 kg
A 0.003 kg
REREIEER 0.272 kg
Z0ft 1.022 kg

O -YHENDH X, PCRELVETE - EERBESRBL T,
OLLE(ONTE, BE - EERBICRESNRGEBLELIEBELLARHoNEEA,
(BB URL : https://ecoleaf-label jp/regulation/)



